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C_a=2/3%exp(-15*)+1/3

t
"#VALUE!
0.00
0.05
0.10
0.15
0.20
0.25
0.30
0.35
0.40
045
0.50
0.55
0.60
0.65
0.70
0.75
0.80
0.85
0.90
0.95
1.00

Ca
d
0.648244
0.482087
0.403599
0.366525
0.349012
0.340739
0.336832
0.334986
0.334114
0.333702
0.333508
0.333416
0.333372
0.333352
0.333342
0.333337
0.333335
0.333334
0.333334
0.333334

Analytical solution

C_b=-2/3*exp(-15*t)+2/3

t
"#VALUE!
0.00
0.05
0.10
0.15
0.20
0.25
0.30
0.35
0.40
045
0.50
0.55
0.60
0.65
0.70
0.75
0.80
0.85
0.90
0.95
1.00

Cb
0
0.351756
0.517913
0.596401
0.633475
0.650988
0.659261
0.663168
0.665014
0.665886
0.666298
0.666492
0.666584
0.666628
0.666648
0.666658
0.666663
0.666665
0.666666
0.666666
0.666666
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_ £ 1
A B & D E F G
1
2 Simultaneous ODEs by Runge-Kutta Method
3 dA/dt = 5B - 10A, A(0) = 1
4 dB/dt = 10A - 5B, B(0) = 0
5
6 4th order hh = 0.1
7 AQ = 1.0
8 BO = 0.0
9 A t; Vis1 ¥i ki=hfu(to,yo) ka=hfs(to+h/2,y; +k1/2) ka=hfs(to+ h/2,y; +k3/2) ky=hfy(to+ hy; + k3)
10| 0.00 1.0000000
11 0.10
12 0.20
13 0.30
14 0.40
1% 0.50
16 0.60
17 0.70
18 0.80
19 0.90
20 1.00
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dCA dCB

—— = 10C4 = 5C5 ——; =5 —10C,
l CA + CB - 1 l

dCA dCB

——— =106, —5(1-Cy) ——; =50 —10(1 - Cp)
dCy dCp
dCy 5 — 15C 4l 10 — 15C
dt 4 dt B
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|(24r) ~| [funA |
Public Function funA{datal As Single, data2 As Single)
fund = 5 - 15 + data2 —
End Function
_ _ _ _ funA = 5 - 15 * data2
Public Function funB{data3 As Single, datad As Single)
funB = 10 - 15 * datad
End Function
(& ~] ~l
Public Function funA({datal &s Single, data2 As Single) ‘:J
fund = 5 - 15 + data2
End Function funB = 10 - 15 * datad
Public Function funB{data3 4s Single, datad As Single)
funB = 10 - 15 + datad
End Function

datal = t;,, data2 = y,,, data 3 = t;5, datad = y;;



4 A B | c | D | E | F G [ H | 1

1
= Simultaneous ODEs by Runge-Kutta Method
ER dA/dt = 5B - 10A, A(0) = 1

4 dB/dt = 10A - 5B, B(0) = 0
5]

6 4th order hh = 0.1
E AQ = 1.0
8 BO = 0.0
9 |A t; Vis1 Yi ky=hfa(toyo) ko=hfa(to +h/2.y;+k1/2) ka=hfy(to+h/2,y; +k2/2) ky=hfy(to+hy;+k3)

10 0.00 1.0000000
11 0.10
12| 0.20
& 0.30

14 0.40
s 0.50
16 0.60
a7 0.70
18| 0.80

19 0.90
20 1.00
B
L]

» | Sheetl ~Sheet2 “Sheet3 #2 M4l i




Runge-Kutta
4th order

1
Yit1 = Yi t 5 (ky + 2k, + 2k3 + ky)

ke =h-f(x,¥1)
h k
ko =h'f(xi+5;}’i+71)
h k
ks=hf (% +5,9+%)

k4=h'f(xl'+h,yi+k3)




Al B C D | E | F G H

1

2 Simultaneous ODEs by Runge-Kutta Method

3 dA/dt = 5B - 10A, A(0) = 1

4 dB/dt = 10A - 5B, B(0) = 0

5

6 4th order hh = 0.1

7 AOD = 1.0

8 BO = 0.0

9 A t; Yi+1 ¥i ki=hfs(to.ye) ka=hfy(to+h/2,y; +k1/2) ky=hfs(to+ h/2,y; +k3/2) ky=hfy(to+ hy; + k3)
10| 0.00 1.0000000

11 0.10

2 o =h*funA(B10,D10) Y

13 0.30

14 0.40

15 0.50 Ei=h (0, 1)

16 0.60 h k

17 0.70 k2=hf(xl+51yl+71)

18 0.80 h k

19 0.90 k3=hf(xl+51yl+?2)

0 00 k= he fCx 4,y + ks)
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E10 -(= fc | =h*funA(810,010)

4 Al B | c | D | E | F G H
1
Iz’ Simultaneous ODEs by Runge-Kutta Method
Ea dA/dt = 58 - 10A, A(0) = 1
= dB/dt = 10A - 5B, B(0) = 0
5
6 | 4th order hh = 0.1
EA A0 = 1.0
N BO = 0.0
9 At Yin ¥i __ky=hfa(to,y0) ke=hfy(to +h/2.y; + k1/2) ky=hfy(to+ h/2,y; +k2/2) ky=hf(to+hy; + ka)
10| 0.00 1.0000000 -1.0000000
[ 0.10
%] 0.20
3 0.30
14 0.40
15| 0.50
16 0.60
24 0.70
18 0.80
19 0.90
20 1.00
i 4 » M| Sheetl ~Sheet? “Sheet3 /% [« ]




10 - (@ f« | =h*funA(B10+h/2,010+E10/2)

Al B C D E ] F G H

1
2 Simultaneous ODEs by Runge-Kutta Method
3 dA/dt = 5B - 10A, A(0) = 1
4 dB/dt = 10A - 5B, B(0) = 0
5
6 4th order hh = 0.1
7 A0 = 1.0
8 BO = 0.0
9 A t; Yist i kq1=hfa(to.vo) ka=hfa(to+h/2,y; +k1/2) ky=hfs(to+h/2,¥; +k3/2) ky=hfy(to+ hy; + k3)
10 0.00 1.0000000 -1.0000000 -0.2500000
11 0.10
- = =h*funA(B10+h/2,D10+E10/2) &=
13 0.30
14 0.40
15 050 ky =h f(xi'yi)h K
16 0.60 k,=h- (X"I‘— ._|__1)
17 0.70 : flrtg.yits
18 0.80 ko = R - Sy ke
3 f Xi 2 » Vi 2
19 0.90
20 1.00 ki =h-f(x;+hy; +k3)
RE Sheet1 /Sheet2 “Sheet3 %3 4] i

ZH | & |



G10 G fe | =h*funA(B10+h/2,D10+F10/2)
Al B C D E F G

1

2 Simultaneous ODEs by Runge-Kutta Method

3 dA/dt = 5B - 10A, A(0) = 1

4 dB/dt = 10A - 5B, B(0) = 0

5

6 4th order hh = 0.1

7 AQ = 1.0

8 BO = 0.0

A | & | v v, kq=hfy(to.vo) kKo=hfalto +h/2,y; +k1/2) ka=hfu(to+h/2, 3 +k3/2) ky=hfy(to+ hy; + ks)
10| 0.00 1.0000000 -1.0000000 -0.2500000 -0.8125000
R =h*funA(B10+h/2,D10+F10/2) 2
13 0.30

14 0.40 ki =nh- f(xi»yl')h )

15 0.50 — B - LT T |

16 0.60 kp =h f(x‘_l_’zl’y‘-l_kz)

17 0.70 T i b b3

- — ks =h f(xl+2;yl+2)

19 0.90 ky=nh-f(x;+h vy +ks3)

20 1.00

21
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H10 - fe | =h*funA(810+h,D10+G10)
A| B C D E F G H

1

2 Simultaneous ODEs by Runge-Kutta Method

3 dA/dt = 5B - 10A, A(Q) = 1

4 dB/dt = 10A - 5B, B(0) = 0

5

6 4th order hh = 0.1

7 AQ = 1.0

8 BO = 0.0

9 A t; Vi+1 ¥i ky=hfs(te.ve) ka=hfa(to+h/2,y; +k1/2) ka=hfs(to+ h/2,y; +k2/2) ky=hf,(ty+ h,y; + k3)

E 0.00 1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
11 0.10
12 0.20 =h*funA(B10+h,D10+G10) =
13 0.30
14 0.40 ki =h-f(x,y:)
h k

if—, 328 k; =h'f(xi+§,yl'+71)
17 0.70 h k
Iz | ono ks=h-f(x;+2,y+2)
| o ko= h-fr+hy + ks)
20 1.00
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A|l B C D E F G
1
2 Simultaneous ODEs by Runge-Kutta Method
3 dA/dt = 5B - 10A, A(0) = 1
4 dB/dt = 10A - 5B, B(0) = 0
S | 1
6 4th order hh = 0.1 Vie1 =V; += (k1 + Zkz + 2k3 + k4)
7 A0 = 1.0 6
8 BO = 0.0
9 A t; Vis1 ¥i ki=hfs(to,vo) ka=hfy(to+h/2,y; +k1/2) ka=hfy(to+ h/2,¥; +k3/2) ky=hfy(to+ hy; + k3)
E 0.00 1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
i 0.10
S .3 =D10+(E10+2*F10+2*G10+H10)/6 Q=
14 0.40
15 0.50
16 0.60
17 0.70
18 0.80
19 0.90
20 1.00
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C10 - f« | =D10+(E10+2*F10+2*G10+H10)/6

| Al B | C I D } E | F _ G , -
1
i Simultaneous ODEs by Runge-Kutta Method
3] dA/dt = 58 - 10A, AQ) = 1
4 dB/dt = 10A - 5B, B(0) = 0
5|
6 | 4th order hh = 0.1
| 7] AO = 1.0
8 | BO = 0.0
9 A t; Yis1 i ky=hfy(to, o) ka=hfy(to+h/2,y; +k1/2) ka=hfy(to+h/2,y; +k3/2) ky=hfy(to+ h y; + k3)
10 0.00 { 0.5156250 | 1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
|11 | 0.10
12| 0.20
13| 0.30
14 040
B | 040 CL97}X| X}= {27
15| 0.50
16 0.60
17| 0.70
18 0.80
19| 0.90
20 1.00

4
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C10 - (= fe | =D10+(E10+2*F10+2*G10+H10)/6
4 A B C l D | E | F G H
1
Z Simultaneous ODEs by Runge-Kutta Method
3 dA/dt = 58 - 10A, A(0) = 1
4| dB/dt = 10A - 5B, B(0) = 0
51
6 4th order hh = 0.1
EA AO = 1.0
8| BO = 0.0
9 A t; Yis1 ¥i ky=hf(to,30) ke=hfa(to+h/2,¥; +k1/2) ka=hfs(to+ h/2,¥; +k2/2) ky=hfs(to+ hy; + k3)
10 0.00 [ 0.5156250 | 1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
11 0.10 | 0.0000000
[z 0.20 | 0.0000000
13 0.30 | 0.0000000
14 0.40 | 0.0000000
= 0.50 | 0.0000000
16 0.60 | 0.0000000
17 0.70 | 0.0000000
18] 0.80 | 0.0000000
19 0.90 | 0.0000000
20 1.00 =
g
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| D11 - £ | =C10

4 A B | C [ D [ E | F G H
1
2] Simultaneous ODEs by Runge-Kutta Method
3 | dA/dt = 5B - 10A, A(0) = 1
4 dB/dt = 10A - 5B, B(0) = 0
=
6 4th order hh = 0.1
7] AQ = 1.0
8| BO = 0.0
9 A t; Yisx i ky=hf(to.vo) ka=hfy(to +h/2,y; +k1/2) ka=hfy(to+h/2,y; +k3/2) ky=hfy(te+ hy; + k3)
10 0.00 0.5156250  1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
Tat)] 0.10 05156250 [ 0.5156250
12 020 0.0000000
= 030 00000000 D11’40f| ‘=C10"l=
14 0.40  0.0000000
15 0.50  0.0000000
16 0.60  0.0000000
17| 0.70  0.0000000
18 0.80  0.0000000
19 0.90 0.0000000
20 1.00
%W Sheetl /Sheet?2 ~Sheet3 #3 - [T« i
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4/A] B | C l D ] E | F G -
1

2] Simultaneous ODEs by Runge-Kutta Method

3] dA/dt = 58 - 10A, A(0) = 1

4 | dB/dt = 10A - 58, B(0) = 0

5

6 | 4th order hh = 0.1

EA AO = 1.0

8 | BO = 0.0

9 A i Yie Vi ky=hfy(toyo) Ke=hfy(to +h/2,y; +k1/2) ky=hfu(to+ h/2,y; +k2/2) ky=hfy(to+ h y; + k3)
10 | 0.00 0.5156250  1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500

11 0.10 0.5156250 | 0.5156250

12 0.20  0.0000000

13| 0.30  0.0000000

14 040  0.0000000 o

15 0.50  0.0000000 D2077kX| X}-& M%7

16| 0.60  0.0000000

17| 0.70  0.0000000

18| 0.80  0.0000000

19 090 0.0000000

20 1.00

75 = .
4 4 » ¥| Sheetl /Sheet? Sheet3 ¥ [« i




D11 - £ | =C10
4 A| B € D 1 E | F G 5
1
2] Simultaneous ODEs by Runge-Kutta Method
3] dA/dt = 5B - 10A, A(0) = 1
4 dB/dt = 10A - 5B, B(0) = 0
5]
6 4th order hh = 0.1
7 A0 = 1.0
8 BO = 0.0
9 |A t; Vis1 ¥ ky1=hfu(to,vo) ka=hfa(to +h/2,y; + k1/2) ka=hfs(to+ h/2,y; +k32/2) ky=hfs(to+ hy; + k3)
10 0.00 0.5156250  1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
11 0.10 0.5156250 [ 0.5156250
[i2] 0.20 0.5156250 | 0.5156250
13 0.30 0.5156250 | 0.5156250
14| 040 0.5156250 | 0.5156250
15 0.50 0.5156250 | 0.5156250
16| 0.60 0.5156250 | 0.5156250
17 | 0.70 0.5156250 | 0.5156250
18 0.80 0.5156250 | 0.5156250
19| 0.90 0.5156250 | 0.5156250
20| 1.00 0.5156250
M 4 » M| Sheetl /Sheet? Sheet3 #2 ~ 4] M
4| | 7 | HP: 05156250 7§10 BH: 5.156




E10 - f | =h*funA(B10,010)
A B C D E H

1

2 Simultaneous ODEs by Runge-Kutta Method

3 dA/dt = 5B - 10A, A(0) = 1

4 dB/dt = 10A - 5B, B(0) = 0

5

6 4th order hh = 0.1

7 AQ = 1.0

8 BO = 0.0

9 A t; Yis1 ¥i kq=hfs(to, o) ko=hfy(to +h/2,y; +k1/2) ky=hfy(to+h/2,y; +ky/2) ky=hfs(to+ h y;+ k3)
E 0.00 0.5156250 1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
11 0.10 0.5156250 0.5156250

12 0.20 0.5156250 0.5156250

13 030 05156250 0.5156250 E10:H10 €9 =21

14 0.40 0.5156250 0.5156250

15 0.50 0.5156250 0.5156250

16 0.60 0.5156250 0.5156250

17 0.70 0.5156250 0.5156250

18 0.80 0.5156250 0.5156250

19 0.90 0.5156250 0.5156250

20 1.00 0.5156250 m

4 4 » n| Sheetl ~Sheet? Sheet3 % nER i
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E10 ~@ f | =h*funA(B10,D10)
A B C D E H
1
2 Simultaneous ODEs by Runge-Kutta Method
3 dA/dt = 5B - 10A, A(0) = 1
4 dB/dt = 10A - 5B, B(0) = 0
5 |
6 4th order hh = 0.1
7 AD = 1.0
8 BO = 0.0
9 A t Vi1 i kq=hfy(to,y0) Ko=hfu(to +h/2,y; +k1/2) ka=hfs(to+ h/2,y; +k3/2) ky=hfy(to+ h y; + k3)
E 0.00 0.5156250  1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500

11 0.10 0.5156250 0.5156250
12 0.20 0.5156250 0.5156250
13 0.30 0.5156250 0.5156250
14 040 0.5156250 0.5156250
15 0.50 0.5156250 0.5156250 E10:H19 OO:l o—:II % xl-% xIII _?_7| = Aél % x“ -8‘ EI-
16 0.60 0.5156250 0.5156250
17 0.70 0.5156250 0.5156250
18 0.80 0.5156250 0.5156250
19 0.90 0.5156250 0.5156250
20 1.00 0.5156250

21
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v (=

f« | =h*funA(B10,D10)

C

D

E

Simultaneous ODEs by Runge-Kutta Method

dA/dt = 5B - 10A, A(Q) = 1
dB/dt = 10A - 5B, B(0) = 0

1

2

3

4

5

6 4th order hh = 0.1

7 AQ = 1.0

8 BO = 0.0
9 |A t Yis1 i kq=hfs(to.yo) Ka=hfy(to +h/2,y; + k1/2) ky=hfa(to+h/2,y; +k2/2) ky=hfy(to+ h y; + k3)

10 0.00 0.5156250  1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500

14l 0.10 0.3831787 0.5156250 -0.2734375 -0.0683594 -0.2221680 0.0598145
E 0.20 0.3469629 0.3831787 -0.0747681 -0.0186920 -0.0607491 0.0163555

13 0.30 0.3370602 0.3469629 -0.0204444 -0.0051111 -0.0166111 0.0044722
E 0.40 0.3343524  0.3370602 -0.0055903 -0.0013976 -0.0045421 0.0012228

15 0.50 0.3336120 0.3343524 -0.0015286 -0.0003822 -0.0012419 0.0003343
16| 0.60 0.3334095 0.3336120 -0.0004179 -0.0001045 -0.0003396 0.0000915
117 0.70 0.3333542 0.3334095 -0.0001143 -0.0000286 -0.0000929 0.0000250
E 0.80 0.3333390 0.3333542 -0.0000313 -0.0000078 -0.0000254 0.0000069

19 0.90 0.3333349 0.3333390 -0.0000086 -0.0000021 -0.0000069 0.0000019
20 1.00 0.3333349 =
2 : i

4 4 » M| Sheetl “Sheet?2 Sheet3 2 4| i
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H33 v I
A B C A D E | F [ G | H |

9 At Yie ¥i ki=hfy(to.yo) Ka=hfalto +R/2.y; +ky/2) Ke=hfy(to +h/2.3i + k2/2) ky=hfy(to + h.yi + k3)
10 | 000 05156250  1.0000000 -1.0000000 -0.2500000 -0.8125000 0.2187500
1 | 010 0.3831787  0.5156250 -0.2734375 -0.0683594 -0.2221680 0.0598145
12 | 020 0.3469629  0.3831787 -0.0747681 -0.0186920 -0.0607491 0.0163555
13 | 030 0.3370602  0.3469629 -0.0204444 -0.0051111 -0.0166111 0.0044722
14 040 0.3343524  0.3370602 -0.0055903 -0.0013976 -0.0045421 0.0012228
15 | 050 0.3336120  0.3343524 -0.0015286 -0.0003822 -0.0012419 0.0003343
16 060 03334095  0.3336120 -0.0004179 -0.0001045 -0.0003396 0.0000915
17 | 070 0.3333542  0.3334095 -0.0001143 -0.0000286 -0.0000929 0.0000250
18 | 080 03333300  0.3333542 -0.0000313 mﬁ? = *I' 23 --ﬂ gﬁgj THE |= 0.0000069
19 090 0.33333490  0.3333390 -0.0000086 0000019
20 | 1.00 0.3333349 A} &2 HtAloZ *‘" °| 42 FolC}
21

228 t Vist ¥i ki=hfs(to.¥) K2=hfa(to +h/2.yi+k/2) ka=hfg(to+ h/2.y; + k2/2) ke=hfz(t + h.y; +k3)
23 | 000 04843750  0.0000000 1.0000000 0.2500000 0.8125000 -0.2187500
24 | 010 06168213  0.4843750 0.2734375 0.0683594 0.2221680 -0.0598145
25| 020 0.6530371  0.6168213 0.0747681 0.0186920 0.0607491 -0.0163555
26 030 06629398  0.6530371 0.0204444 0.0051111 0.0166111 -0.0044723
27 | 040 06656476  0.6629398 0.0055903 0.0013975 0.0045421 -0.0012228
28 | 050 0.66638380  0.6656476 0.0015286 0.0003822 0.0012419 -0.0003343
29| 060 0.6665905  0.6663880 0.0004179 0.0001045 0.0003396 -0.0000915
30 | 070 0.6666458  0.6665905 0.0001143 0.0000286 0.0000929 -0.0000250
31 | 080 0.6666610  0.6666458 0.0000313 0.0000078 0.0000254 -0.0000067
32 090 0.6666651  0.6666610 0.0000086 0.0000021 0.0000069 -0.0000019
33 1.00 0.6666651 | |
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c4 - fe | =1/3+2/3*EXP(-15*B4)
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Analytical Runge-Kutta Analytical Runge-Kutta
2 solution method solution method
3 E Ca Ca error(%) Ce Cp error(%)
4] 0 1
5] 01| 0482086773
6 02| 0.366524712 = = = {4 o
Ed 03| osaorsssm| LA SRS XS A2
8 04| 0334985835
ER 05| 0.333702056
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3 i Ca Ca error(%) Ce Cp error(%)
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5 0.1 0.482086773
6 0.2 0.366524712
7 0.3 0.340739331
8 04 0334985835 20lAM et Runge-Kutta 7} 71X 27|
9 0.5 0.333702056
10 0.6 0.333415607
11 0.7 0.3333516921
12 0.8 0.333337429
13 0.9 0.333334247
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2 Simultaneous ODEs by Runge-Kutta Method

3 dA/dt = 5B - 10A, A(0) = 1

4 dB/dt = 10A - 5B, B(0) = 0

S I

> dthorder M- o D10:D20 ¥ e £ 15t0q

8 BO = 0.0 leo*'c');l- 'II='I %*I-
L9 t; Vi+1 ¥i k1=hfi(to. y0)/ k2=hfa(to + h/2,y; + k1/2) ka=hfs(to + h/2,¥; + k2/2) ky=hfy(to+ b y; + k3)
10| 0.00 0.5156250} 1.0000000 -0.2500000 -0.8125000 0.2187500
i 0.10 0.3831787f 0.5156250 -0.0683594 -0.2221680 0.0598145
£ 0.20 0.3469629§ 0.3831787 -0.0186920 -0.0607491 0.0163555
£ 0.30 0.3370602 § 0.3469629 -0.0051111 -0.0166111 0.0044722
14| 0.40 0.3343524 } 0.3370602 -0.0055903 -0.0013976 -0.0045421 0.0012228
1_5 0.50 0.3336120f 0.3343524 -0.0015286 -0.0003822 -0.0012419 0.0003343
16| 0.60 0.3334095} 0.3336120 -0.0004179 -0.0001045 -0.0003396 0.0000915
i 0.70 0.3333542f 0.3334095 -0.0001143 -0.0000286 -0.0000929 0.0000250
18| 0.80 0.3333390}F 0.3333542 -0.0000313 -0.0000078 -0.0000254 0.0000069
1_9 0.90 0.3333349f 0.3333390 -0.0000086 -0.0000021 -0.0000069 0.0000019
20| 1.00 0.3333349
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2 solution method solution method
88 t; Ca Ca error(%) Cp Cp error(%)
4 0 1 1
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s 02 0366524712 03831787109
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F« | =ABS(D4-C4)/C4*100

gomumm’n’ww

Al A
N S T B

16

4 4 » ¥ | Sheetl

01
0.2
0.3
04
0.5
0.6
0.7
0.8
0.9

@

Analytical
solution

Ca

1
0.482086773
0.366524712
0.340739331
0.334985835
0.333702056
0.333415607
0.333351691
0.333337429
0.333334247
0.333333537

Sheet2 ~/Sheet3 ¥

D

Runge-Kutta
method

Ca

1
0.5156250000
0.3831787109
0.3469629288
0.3370601758
0.3343523890
0.3336119801
0.3334095329
0.3333541602
0.3333390281
0.3333348930

error(%)

0

=ABS(D4-C4)/C4*100 Q|

Analytical

solution
Ce

Runge-Kutta

G

method

Ce

error(%)

LI}

ZH | & |



fe =ABS(D4-C4)/C4*100

12
13

14|
15
16

4 4 » »| Sheet]

01
0.2
0.3
04
0.5
0.6
0.7
0.8
0.9

Sheet2 ~Sheet3

C

Analytical
solution

Ca

1
0.482086773
0.366524712
0.340739331
0.334985835
0.333702056
0.333415607
0.333351691
0.333337429
0.333334247
0.333333537

o8]

D

Runge-Kutta
method

Ca

1
0.5156250000
0.3831787109
0.3469629288
0.3370601758
0.3343523890
0.3336119801
0.3334095329
0.3333541602
0.3333390281
0.3333348930

error(%)

0
6.956885859
4.543758752

1.8264982
0.619232468
0.194884245
0.058897526
0.017351626
0.005019153
0.001434222
0.000406716

B G H
Analytical Runge-Kutta
solution method

Cp Ce error(%)

E147}X| E2|158t0] XIS *j2 7]

4] i

o | @ |

1293124433 7511 THAH: 1422



LU S SiC

BO| QXALE AQ} ZHS HIE O

- - (Th Bl HRHW) 2XHE BRI} 00|22 0|8 x)
Analytical Runge-Kutta Analytical Runge-Kutta
2 solution method solution method
3 t; Ca Ca error(%) Cp Ce error(%)
4 0 1 1 0 0 0 0
5 01 0482086773 0.5156250000  6.956885859 0.517913227 0.4843750000 6.47564589
6 0.2 0.366524712 0.3831787109  4.543758752 0.633475288 0.6168212891 2.628989483
7 0.3 0.340739331 0.3469629288 18264982 0.659260669 0.6530370712 0.944026853
8 04 0.334985835 0.3370601758  0.619232468 0.665014165 0.6629398167 0.311925461
9 0.5 0.333702056 0.3343523890  0.194884245 0.666297944 0.6656475961 0.097606129
10 0.6 0.333415607 0.3336119801 0.058897526 0.666584393 0.6663880050 0.029461903
11 0.7 0.333351691 0.3334095329  0.017351626 0.666648309 0.6665904522 0.008678765
12 0.8 0.333337429 0.3333541602  0.005019153 0.666662571 0.6666458249 0.002511858
13 0.9 0.333334247 0.3333390281  0.001434222 0.666665753 0.6666609794 0.000715997
14 1 0.333333537 0.3333348930 0.000406716 0.666666463 0.6666651070 0.000203358
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